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o AFS, 4 jets, pp, v/s = 63 GeV (no errors)
> UAZ2, 4 jets, pb, v/s = 630 GeV (lower limit)
’ . 1 CDF, 4 jets, pp, v/s = 1.8 TeV
——e—H CDF, v/n%+3 jets, pp, v/5 = 1.8 TeV
HeH DO, JAP Y, pP, /s = 1.96 TeV
—tet— DO, JAp A, pp, /5 = 1.96 TeV
—te— DO, v + b/c+2 jets,pp, /5 = 1.96 TeV
e DO, y+3 jets, pp, /s = 1.96 TeV
. DO, y+3 jets, pp, /s = 1.96 TeV
> ATLAS, Z + JAb, pp, /s = 7TeV (lower limit)
} PP — ;  ATLAS, 4 jets, pp, v/s = 7TeV
———+—— ATLAS, W+2 jets, pp, v/s = 7TeV
———+—1 CMS+Lansberg,Shao, JApJAb, pp, v/s = 7TeV
} o j CMS, W+2 jets, pp, v/s = 7TeV
. LHCDb, JA DY, pp, /s = 7TeV
O LHCb, JAbD*, pp, v/s = 7TeV
H—O—H LHCb, JAb D, pp, v/s = 7TeV
H—0—H LHCb, JW AL, pp, Vs = 7TeV
H—e—H LHCb, Y(1S)D° | pp, /s = 7TeV
— o4 LHCb, T(1S)D* , pp, v/5 = 7TeV
H——H LHCb, Y(1S)D%*, pp, /s = 7TeV
—o—+ LHCb, Y(1S)D° | pp, /5 = 8 TeV
F* " LHOb, T(1S)D* , pp, /5 = 8TV
LHCb, Y(1S)D%*, pp, /s = 8 TeV
H—e——H
LHCD, Y(1S)D%*, pp, /s = 7&8 TeV
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